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Instructions:

e All questions are compulsory and objective type with Multiple Choice Answers.

o There is no negative marking.

e In case of ambiguity on any question, the English version be taken as final.

e Please use black/Blue ball point pen to completely darken the circles corresponding to the

correct answers.

e The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates in the competition for the exam.
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SECTION — A: ENGLISH

Read the passage given below carefully and
answer the questions given below:

Bachendri's story stands as an example of how
going against your family's wishes can be hard
but important from time to time.Raised
surrounded by the Himalayas towering around
her hometown, she intended to climb it one
day, and focused on becoming a professional
mountain climber. Moreover, she received a lot
of discouragement for being a girl trying to take
on such a physically challenging path. This only
fuelled her passion; she was selected to be part
of an expedition to the top of Mt. Everest. She
braved being buried in snow, fierce icy winds
and even losing sensation in her toes. She was
one of the few who finally made it to the top
creating history in being the first Indian woman
to reach the summit.

1. Which mountains surrounded Bachendri's
hometown?

b. The Alps
d. Mt. Everest

a. The Himalayas
c. The Mountains

Explanation:

The Himalayas surrounded Bachendri's
hometown.

2. What did she want to become on growing
up?

a. Doctor

b. Professional Mountain climber
c. An athlete

d. Engineer

Explanation:

Bachendri wanted to become a professional
mountain climber.

3. Why did she receive a lot of
discouragement?

a. Because she was a girl

b. Because she was weak

c. Because she was incapable

d. Because her family did not support

Explanation:
She was discouraged because she was a girl.

4. What was the reaction of Bachendri's family
regarding her choice of career?

a. They were happy

b. They supported her

c. Her family was not happy
d. None of these

Explanation:

Her family was not happy with her career
choice.

5. What was the childhood dream of
Bachendri?

a. To become an athlete

b. To climb the mountains one day
c. To become a coach

d. To become a teacher

Explanation:

Bachendri's childhood dream was to climb the
mountains one day.

the test
because she thinks that she will fail the test.

6. Madhu is worried
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a. of b. to

c. about d.on
Explanation:

Worry about - to express concern or anxiety
over something.
The correct answer is ‘about’.

7. Fill in the blank with suitable word.

He has knowledge of the language.
a. lot b. many
c. little d. few

Explanation:

Lot — "Lot" shows a large amount.

Many — "Many" is used with countable nouns
(e.g., "many books")

Little — "Little" is used with uncountable nouns
to indicate a small amount of something.

Few — "Few" is used with countable nouns (e.g.,
"few books")

The correct answer is ‘little’.

8. Direction: Choose the option which can
replace the word in BLOCK LETTERS in the
following sentences.

The test includes COMPULSORY essay
question.

b. affable
d. not attempted

a.forced
c. optional

Explanation:

Forced — "Compulsory" means something that is
required or mandatory

Affable — "Affable" means friendly or pleasant
Optional — "Optional" means something that is
not required or is left to the choice of the
person

The correct answer is ‘forced’.

9. Direction: Fill in the blanks with correct
pronouns from the options given below.

They were angry with for their

silly mistake.

a. ourself b. themselves

c. itself d. yourself

Explanation:

The correct reflexive pronoun to use in this
sentence is "themselves" because the subject
"They" is plural, and reflexive pronouns for
plural subjects use "themselves."

10. Direction: Pick out the nearest correct
meaning or synonym of 'ADVICE'.

a. Council b. Counsel

c. Practice d. Proposal
Explanation:

Council — "Council" refers to a group of people

who make decisions or give advice.

Counsel — "Counsel" refers to giving advice or
guidance.

Practice — "Practice" refers to the act of doing
something regularly or a professional field.
Proposal — "Proposal" refers to a suggestion or
plan.

The correct answer is ‘Counsel’.

11. My sister from Meerut recently.

a. cross b. crossed

c. had crossed d. have crossed

Explanation:

The sentence is in the past tense because it
refers to an action that happened recently. The
correct form of the verb for a past event is
"crossed," which is the simple past tense.
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12. Do you see blue sky?

a.a b. no article

c.an d. the

Explanation:

"The" is used when referring to a specific thing
that both the speaker and listener are familiar
with. In this case, the blue sky refers to a
specific, known entity.

13. Fill in the blanks with suitable choice.

students were

The class was not held as

present.
a. afew b. any
c. few d. a little

Explanation:

A few — "A few" means some. It would imply
that there were enough students present,
which doesn't fit the sentence.

Any — "Any" is used in negative sentences to
refer to an unspecified amount.

Few — "Few" means a small number, often
implying that it was not enough for the class to
be held.

A little — "A little" is used for uncountable nouns
(like water, sugar, etc.).

The correct answer is ‘few’.

14. A synonym for vowed

b. lied
d. steered

a. promised
c. stated

Explanation:

Promised — "Vowed" means to make a serious
promise or commitment, so "promised" is the
closest synonym.

Lied — "Lied" means not to tell the truth.

Stated — "Stated" means to declare or express.

Steered — "Steered" means to guide or direct.
The correct answer is ‘promised.’

15. A synonym for satisfaction

a.rap b. contentment

c. peril d. accuse

Explanation:

rap — "Rap" means a quick knock or a type of
music.

contentment — "Contentment" means a state of
happiness and satisfaction.

Peril — "Peril" means danger or risk, which is the
opposite of satisfaction.

Accuse — "Accuse" means to blame or charge
someone.

The correct answer is ‘contentment’.

16. A synonym for courageous

a. Scary b. Brave

c. Happy d. Delicious

Explanation:

Scary — "Scary" means causing fear.
Brave — "Brave" means showing courage or
fearlessness.

Delicious — "Delicious" means tasty.

The correct answer is ‘Brave.

17. Direction: Fill in the blanks with correct

Adjectives: There is water in the
bottle.

a.some b. few

c. large d. small

Explanation:

Some "Some" is used to indicate an

unspecified amount of something.
Few — "Few" refers to countable nouns, and it
means a small number.
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The correct answer is ‘some.’

18. Direction: Choose the option which can
replace the word in BLOCK LETTERS in the
following sentences.

Please FORGIVE me.

a. pardon b. justify

c. convict d. blame

Explanation:

Pardon — "Pardon" means to forgive or excuse
someone for an offense.

Justify — "Justify" means to provide reasons for
something or make it reasonable.

Convict — "Convict" means to declare someone
guilty of a crime.

Blame — "Blame" means to hold someone
responsible for something.

The correct answer is ‘pardon’.

19. Have you seen one rupee note?

a. the b.a

c.an d. None of these

Explanation:

‘A’ is used because "one" doesn't start with a
vowel sound.

20. can also be called exclamatory
sentences.

a.exclamations b. commands

c. statements d. questions

Explanation:

Some questions can also function as
exclamatory sentences, especially when they
express strong emotions. For example:

"What a beautiful day!"

"How amazing this is!"

In these cases, the sentence starts with a
question word (like "What" or "How"), but it
functions more as an exclamation rather than a
question.

The correct answer is ‘questions’.

21. Direction: Choose the option which can
replace the word in BLOCK LETTERS in the
following sentences.

The thief will CONFESS his guilt soon.

a.deny b. refuse

c. admit d. none

Explanation:

Deny —"Deny" means to refuse or reject
something

Refuse — "Refuse" means to decline or reject
something

Admit — "Admit" means to acknowledge or
confess something

The correct answer is ‘admit’.

22. Direction: Choose the option which can
replace the word in BLOCK LETTERS in the
following sentences.

They will surely IGNORE you.

a. remember b. overlook

C. notice d. indicate

Explanation:

Remember —"Remember" means to recall or
keep something in mind

Overlook — "Overlook" means to ignore or fail
to notice something

Notice — "Notice" means to become aware of
something

Indicate — "Indicate" means to show or point
out something

The correct answer is ‘Overlook.’
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23. The speaker will be coming

car.
a. by b. from
c.in d. over

Explanation:

By — "By" is used to indicate the mode of
transport. For example, "by car," "by bus," "by
train," etc.

From — "From" indicates the starting point or
origin of a movement, not the mode of
transport.

In—"In" refers to being inside something.

Over — "Over" typically refers to movement
across a surface or above something

The correct answer is ‘by’.

24. Fill in the blank with suitable word/ phrase.
Please be quiet, |

b. was working
d. had worked

a. am working
¢. have worked

Explanation:

The sentence is referring to the present
moment, and the speaker is asking for quiet
because they are currently engaged in work.
The present continuous tense ("am working") is

used to describe an action that is happening

right now.

25. India everyone to do his/her duty.
a. expects b. excerpts

c. accept d. expert

Explanation:

Expects — "Expects" means to look forward to or
anticipate something

Excerpts — "Excerpts" refers to portions or parts
taken from a larger text

Accept — "Accept" means to agree to or receive
something

Expert — "Expert" refers to someone who is
highly skilled in a particular area.

The correct answer is ‘Expects’.

26. Direction:
words/phrases to make a meaningful sentence
by choosing the correct sequence.

Rearrange the following

at (A)/were not (B)/ school (C)/ they (D)/
yesterday (E)/

b. DBACE
d. DECAB

a. CBDEA
c. BACED

Explanation:

The correct sentence is —
They were not at school yesterday.
The correct answer is ‘option B’.

27. Direction: Choose the suitable one for the
given expression.

A building for storing threshed grain

b. dockyard
d. granary

a. hangar
c. store

Explanation:

Hangar — A hangar is a large building or
structure used for storing aircraft

Dockyard — A dockyard is a place where ships
are built or repaired

Store — A store is a general place for storing
good

Granary — A granary is a building specifically
used for storing grain

The correct answer is ‘granary’.

28. A synonym for decide is

a. settle b. choose
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c. determine d. all of the above

Explanation:

All of the following words can be used as
synonyms for "decide" in different contexts:
Settle — To "settle" can mean to make a
decision or come to a conclusion.

Choose — "Choose" means to select from a
range of options

Determine — "Determine" means to decide or
conclude something after consideration

The correct answer is ‘all of these’.

29. The kid is learning to play violin.

a.a b. the

c.an d. None of these

Explanation:

‘The’ is used before the names of musical
instrument.

30. Change the narration for following
sentence:-

We have already done the exercise.

a. Already, the exercise has been done by us.
b. The exercise has already been done by us.
c. The exercise had been already done by us.
d. The exercise is already done by us.

Explanation:

Active Voice — Sub + has/have + V3 + ..... +
object

Passive Voice — Object + has / have + been + V3
+ ... +by +subject

Active Voice — We have already done the
exercise.

Passive Voice — The exercise has already been
done by us.

31. Direction: Choose the correct options to fill
the following.

They were angry with for their silly
mistakes.

a. him b. their

c. ourself d. themselves

Explanation:

The sentence implies that "they" (the subject)
were angry with themselves because of their
own mistakes. Since the subject is plural
("they"), the reflexive pronoun "themselves" is
the correct choice.

32. Choose the correct preposition:
I will meet him

Saturday afternoon.

b. with
c. to d.into

a.on

Explanation:

On —The correct preposition to use when
referring to specific days and dates is "on”.
With —"With" is not used for referring to a
specific time or day.

To—"To" is used to indicate direction or
movement.

Into — "Into" is used to indicate movement from
outside to inside.

The correct answer is ‘on’.

33. Direction: Rearrange the following
words/phrases to make a meaningful sentence
by choosing the correct sequence.

ship (A) /violently (B)/ the (C)/ the storm(D)/
rocked (E)/

b. ACBDE
d. DECAB

a. CDBAE
c. CABDE

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE —

Explanation:

The correct sentence is —
The storm rocked the ship violently.
The correct answer is ‘option D’.

34. Direction: Rearrange the following
words/phrases to make a meaningful sentence
by choosing the correct sequence.

for tigers (A) /a natural (B)/ it is (C)/home (D)/
protected (E)/

b. ADEBC
d. EDBAC

a. CBEDA
c. CABDE

Explanation:

The correct sentence is —
It is a natural protected home for tigers.
The correct answer is ‘option A’.

35. Direction: Fill in the blanks with the correct
options.

The terrorist dead by the cop.
a. shoots b. shot
c. has shot d. was shot

Explanation:

‘Was shot’” — This is the correct passive voice
construction in the past tense. "Was shot"
indicates that the action happened in the past,
and the subject (the terrorist) received the
action.

All other options show the use of active voice.

36. Direction: Choose the word which is
opposite in meaning to the word in BLOCK
LETTERS in the following sentence.

She is known for her POLITE nature.

b. coarse
d. rude

a. rough
c. refined

Explanation:

The word "polite" means courteous and
respectful. The opposite (antonym) of "polite"
would be a word that conveys a lack of respect
or courtesy.

Coarse — "Coarse" can suggest a lack of
refinement or sophistication

Refined — "Refined" means cultured and elegant
The correct answer is ‘rude’.

37. are sometimes called
declarative sentences.

a. statements b. questions

c. commands d. requests

Explanation:

Statements are sometimes called as
‘Declarative Sentences’.

A declarative sentence is a sentence that makes
a statement, provides a fact, offers an
explanation, or conveys information.

38. The mother food for us everyday.
a. is cooking b. cooks
c. has cooked d. cook

Explanation:

‘Cooks’ - This is the simple present tense, which
is used to describe habitual or regular actions. It
is the correct choice because it refers to
something the mother does regularly.

Simple Present tense —
Singular Subject + V1 +s/es +.........

39. A synonym for delectable
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a. Confusing b. Angry

c. Delicious d. Smelly

Explanation:

"Delectable" is an adjective that describes
something that is highly pleasing, especially in
terms of taste.

Delicious — This is the correct synonym for
"delectable," as both words mean something
that is highly enjoyable, especially in terms of
food.

40. The classes will be held

Monday.
a.over b. on
c.in d. at

Explanation:

Over — "Over" is typically used to indicate
duration (e.g., "over the weekend")

On —This is the correct preposition for referring
to a specific day of the week (e.g., "on
Monday").

In—"In"is used for months, years, or longer
periods of time (e.g., "in Jan").

At —"At" is used for specific times or locations
(e.g., "at 10 AM," "at the school")

The correct answer is ‘on’.

41. Find the correctly spelt word.

a. horouscope b. houroscope

c. horoscope d. horoscoep
Explanation:

The correction spelling is ‘horoscope’ in option
C.

42. Direction: Rearrange the words/phrases to
make meaningful sentence

of India (A)/ modern man (B) / called the first
(C) / he is rightly (D)

a. DCBA
c. ABDC

b. BDCA
d. ABCD

Explanation:

The correct sentence is —

He is rightly called the first modern man of
India.

The correct answer is ‘option A’.

43. Find the correctly matched "Idiom":

a. as nimble as quirrel b. as cold as snow

c. as innocent as baby d. as easy as needle
Explanation:

‘As nimble as squirrel’ means someone is quick
and agile.

44, Direction: Fill in the blanks with correct

article:

He can fly aeroplane.

a.a b. an

c. the d. no article

Explanation:

"An" is used before words that begin with a
vowel sound, such as "aeroplane".

45. Direction: Rearrange the following
words/phrases to make a meaningful sentence
by choosing the correct sequence,

called (A) /rose is (B)/ the queen(C)/ flowers
(D) /of(E)/

b. ACBDE
d. DECAB

a. CBDEA
c. BACED

Explanation:
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The correct sentence is —
Rose is called the queen of flowers.
The correct answer is ‘option C’.

46. My friend his purse last night.

a. loses b. lose

c. lost d. is losing
Explanation:

The sentence refers to something that

happened last night, so the past indefinite tense

(Sub + V2) is used.

The correct answer is ‘lost’.

47. Mr. Chatterjee wants to be MLA.
a.a b. an
c. the d. no article

Explanation:

"An" is used before words that begin with a
vowel sound. Since "MLA" is pronounced

starting with the vowel sound "em," "an" is the
correct choice.
48. The treasure is buried the

coconut trees.

a.over b. on
c.in d. under

Explanation:

Over — Means above, not touching the surface
On — Means resting on the surface

In — Suggests inside something

Under — It is used to indicate something is
beneath or below a surface or object.

The correct answer is ‘under’.

49. Choose the correct spelling:

a. appresiation
C. appreciason

b. appreciation
d. apreciation

Explanation:

The correct spelling is ‘Appreciation’ in option

(B).
50. Find the correret Gender of "Marquis"

a. marquis b. marquises

c. marchioness d. none of these

Explanation:

The feminine form of "marquis" is
"marchioness."

A marquis is a nobleman ranking below a duke
and above an earl or count.

SECTION B: - GENERAL KNOWLEDGE

51. Dibrugarh is located in which state?

s formr o & Rorm 32

a) Assam/3Eq

b) Nagaland/ammete

¢) Arunanchal Pradesh/31&vrmeret ge3r
d) Mizoram/fis

Explanation:

Dibrugarh is located in Assam State.
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It is situated on the Brahmaputra River,
renowned as the Tea city of India.

SYTEAT:

fesre e Te  feura 2
IT TR Fal W o €, I 3H A T =1 e o6 & H
ST ST 2

52. What colour symbolises peace?

I AT T 91T T et 2

a) Pink/ TTasit b) Orange / At
¢) Brown /s d) White / a%e
Explanation:

White colour symbolizes peace, purity,
humility, innocence & silence.

Pink is colour of love, representing romanance.

Orange colour symbolizes optimism &
Happiness.

Brown Colour evokes Feeling of Safetly,
Raliability and honesty.

SYIEAT:

The T rifer, wfersrar, fermar, wrerfirrd 31w i 2
TSt T 31 6t et 7, ST A s Sfaffiree s 2
AT T SATRITETE 3 R T i 2

o7 O e, forgefierT 31X $HTaR Y TeHT sht ST 2

53. Usain Bolt who created a new world record

in 100 metres race is a citizen of

100 X €t W 74T fory Fen TS a9 oot 389 Siee wet
& AT 872

a) USA / 7uae
b) South Africa/ afafor 31shieRT
¢) Russia /=9

d) Jamaika /StaeT

Explanation:

Usain Bolt is Jamaican retired sprinter who won
gold medals in 100 meter & 200 meter races.
Jamaica is a carabian country and famous for
sugarcane and banana Production in the world.

SYTEAT:

IO STee Teh STHGhT oh SETE &Taeh & fofeai 100 Hiex
3T 200 HieT ST H 01 qaeh S| STHeRT Teh ShiferTs 2978
3R 7 g 7 =t S et o Seare o fore i 21

54. NRI - Means:
NRI - T 372 2:

a) New Regional Instrument / T &= Sustor
b) Non Resident Indians / = famdt 9yt

¢) Non Regional Indians/ T &t st

d) None of these / 378 @ &1 =&

Explanation:

NRI means Non-resident Indians.
It is a classification for Indian citizens who live
outside of India for an extended period.

SYTEAT:

NRI o7 27 8 -F-famet s
g WL AT o foTT Ten 2oft & ST ol 903 deh 9Id
e T&d 2l

55. Gateway of India is located at?
Trea 3T Sfear et Rea @2

a) Hyderabad / &&tem@  b) Mumbai / 4%
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¢) Bengaluru / Srete d) Agra / I TT

Explanation:

The Gateway of India is located at Mumbai. It is
an arch-monument completed in 1924. It was
erected to commermorate the landing of
Georage V for his coronation as the emperor of
India in December 1911.

SYTEAT:

T2 T 3fear qerg # Rerd 81 8 U STmeh-un |, S
1924 ¥ T ToRAT AT 21Tl 36 TSt =M o R o FHTE o &9
T qreieit o forg fegsm 1911 § v 31 i e o
BN ECREDIRIDID|

56. Who is the founder of Microsoft?
TSR ETHE o TEATAS HIT 82

a) Steve Job / a Sta
¢) Bill Gates/ foret fieg

b) Satyan / €ea
d) Donald/ EFTes

Explanation:

Microsoft was founded in 1975 by Bill Gates &
Paul Allen. Microsoft Corporation is an
American multinational corporation &
technology company headquartered in
Redmond, Washington.

SqTEAT:

HTEhIETHE shT TATIAT 1975 H fofet Tieq 37T uiet ol g sht
TS off| TTSSRIETGE TN Ush ST U™ st 31T
STrenfieht st 2, et Teer v, anfiiren 7 ferd 21

57. The science of drawing map is called
U a9 1 s wheerar §

a) Cartography/ amfm=eret
b) Geography/ T
¢) Topology/ Zmieitst

d) Geology/ «mi 3
Explanation:

The science of drawing map is called
cartography. Cartography provides a simplified
visual reperesentation of physical terrain.

SYTEAT:

T ST T oI bl ATfeeheT T ST 2
AR Wit TRGYT T Ush TRe 39 Ufd T Sam
AT 21

58. Where is the Gir National Park Situated
iR oot s et fRea 22

a) Punjab/ dsTer b) Haryana/ gf@mom

¢) Gujarat/ TTsrra d) Maharashtra/ #grrse

Explanation:

The Gir National Park is situated in Gujarat. It is
the home of Asiatic Lions.

SqTET:

TR Tt Jarm e # o 21 7 TR SR R R
59. Bandipur National Park is located in which
state?

TR et s forw Te § fRera 22

a) Gujarat/ TeRIq

b) Rajasthan/ TsE™

¢) Uttar Pradesh/ S ye=t
d) Karnataka/ #fes

Explanation:

Bandipur National Park is located in Karnataka
state. It is famous for tigers and elephants.

SqTEAT:
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ST T e Ffieah Tod 1 fEord 81 78 st 39K
=it o for g =1

60. Name the brightest planet in the Solar

system.

HRUSH o T AR TE T ATH TaT8Y -

a) Neptune/ Fo=7 b) Venus/ I

¢) Jupiter/ SEEafa d) Saturn/ s g

Explanation:

Venus is the brightest plant in the solar
system.lt is the second planet from the sun. It
is also called as Pressure cooker Planet.

SqTEAT:

05 1€ UGS 1 Al SRR I 8| 98 93 ¥ g IE
TH "I e TR off et ST 2

61. Ajanta Paintings are related to
arsiar fersreRet foro@r weifera &2

a) Jainism/ S o b) Brahmanism/ sTamrang
¢) Christianism/ 3@ e/ d) Buddhism/ st &

Explanation:

Ajanta Paintings are related to Buddhism. It is
located in Maharashtra. Ajanta caves are a
UNESCO World Heritage Site.

SYIET:

ST UfT sig o & Heiferd 81 78 Hermee § feurd 21 Stsidr
6T TS I AT for eiet vt €

62. Who was the first women IPS officer in

India?
WA hl Ugedl Aigett gy stfirentdt i of?

a) Anna Chandi/ =T <€t

b) Kiran Bedi/ fertor st
¢) Leila Seth/ e @3
d) P.K.Thresia/ ¥t .gftan

Explanation:

Kiran Bedi was the first women IPS officer in
India. She was born in Amritsar in 1949. She
was also awarded the Ramon Magsaysay
Award in 1994,

SqTEAT:

fortor €t T it TRt Ofeer ersdiey Attt off| STem
ST 1949 H STAETH gHT 1| 3T 1994 H T HEH TThT
o oft g forarm e

63. Earth rotates along direction
gt oo & oAt 2

a) North to south/ ST & gfafor
b) East to west/ & @ ufzm
c) West to east/ dafzm & &
d) South to North/ gféfor & 3w

Explanation:

Earth rotates along west to east direction.
Earth is the fifth largest planet of our solar
system, it also known as Blue Planet.

SqTEAT:

eaft frm & g fewm o et 1 gedt gHn diied w1 dieat
T T IE &, T8 e 7 it et S 2

64. What is the capital city of India?
ORA b TAUTHT AT B2

a) Mumbai/ 413 b) Kolkata/ shietshrar
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¢) Delhi/ fewett d) Chennai/ ==

Explanation:

Delhi is the capital city of India. It is located on
Right bank of Yamuna River. It is earlier known
as Indraprastha.

SYTEAT:

feeeft s shi rsterrft 81 278 7T 7 o e fohai o
Teord 1 38 TeeT SETEY o TTH § ST SITar ol

65. Which city is called the Queen of Arabian

Sea?

S AR kY T FoF 9188 Y &gt ATt 272

a) Coimbatore/ et
b) Tamil Nadu/ afierrg
¢) Kochi/ &=

d) Chennai/ ==

Explanation:

Kochi City is called the Queen of Arabian Sea. It
is the biggest city of Kerala State. It is also
known as Spice Port of India.

SYIET:

STl ITET hT IS G 3h! T ShaT ST 81 I8 e TS
1 Gel STST YL 2l S8 WA o1 Gordl §1eT §eUTTe o et
ST 2l

66. Who was the president of France during
G20 summit at New Delhi in September 2023?

fordart 2023 # 7% faeett & G20 FTer avies & SR
THE o eyt &1 92

a) Francois Hollande/ Shiga 3iietie
b) Emmanuel Macron/ 3iJu fishi
¢) Nicolas Sarkozy/ feriera awehrsit
d) Francois Mitterrand/ %ehisH firdls

Explanation:

Mr Emmanuel Macron was the President of the
French Republic during G20 summit at New
Delhi in September 2023.

TSR

e 2023 T 7 et 1 Sfi-20 fIrew av e & S
SHIETET TORTSE % Tegafd 2t FHue A 2|

67. When is the International Yoga Day

celebrated?
ST AT fead el BT AT 82

b) Jun-22/5[-22
d) Apr-21/ 3i¥a-21

a) Jun-21/5H-21
¢) May-21/5s-21

Explanation:

The International Yoga Day is celebrated on 21
June.

June 21°t was chosen because it’s the summer
solstice, the longest day of the year in the
Northern Hemisphere.

T IRIT:

21 S T SR AT feae wra wm
21 ST 1 SHITT AT TR A 1oh e 1w wshifer 2, S 3l
e 7 oY T FerE e fe 2

68. Cataract is the disease of?

iferafeg T2

a) Eyes/ 1@ b) Teeth/ gi@
¢) Skin/ @@= d) Heart/ fea
Explanation:

Cataract is the disease of eyes. A cataract is a
clouding of the lens of the eyes. Due to this our
eyesight may become blurry.

T RIT:
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wifcrnTfeia stfat w1 T 8 Mt st & o | |/
U 2| SEH AR @ sht TR el 8 et 2

69. Which country is the largest producer of

coffee in the world?

Torey ® TR T GH TST IUTGeR ST HIT AT E?

a) Brazil/ ssfier b) Ethiopia/ 3=
¢) Colombia/ ®@fismm  d) Vietnam/ ferra=m
Explanation:

Brazil is the largest producer of coffee in the
world. Because of it, Brazil is known as the
Coffee Bowl of the world.

TIHIRIOT:

SIS g | SH1hT h1 Geld JST IcT1eeh B SHh! I8 ¥
SITSIA Shi GIIT T Shith STSeT el ST &

70. Which of the state has the largest area of

forest cover in India?

YRA | AW 317k a7 o fra Tsa w37

a) Arunachal Pradesh/ 37&vm=ret ezt
b) Haryana/ gf@mom

¢) Madhya Pradesh/ wex wewr

d) Assam/ 3@

Explanation:

Madhya Pradesh is the State which has largest
area of forest cover in India, followed by
Arunachal Pradesh.

T IRIT:

HE YIS WA T T ST a7 &1 JTeT U9 2, 30 918
SR T2 Bl

71. On which date mother's day is celebrated?

wad 2 fore arirE &Y 7T ATaT 22

a) 2nd Sunday of May/ # %1 g&w Team
b) 3rd Sunday of May/ &g =1 dterT fear
¢) 4th Sunday of May/ 5g s =it TR
d) 1st Sunday of May/ Hg =T TgaTT T

Explanation:

On 2" Sunday of May mother’s day is
celebrated.

TASRIT:
S o GEL TR T AT foad 7T STl 2

72. Which of the following is NOT a scheduled

language of India?

Freafefaa & & it ot W At srgefod e T 22

a) Mundari/ gert
b) Santhali/ dereft
¢) Bodo/ ster

d) Dogri/ g

Explanation:

In the following Mundari is not a scheduled
language of India. There are 22 official
languages in India which are listed in the 8t
schedule of the constitution of India.

TAHRIT:

frefaRaa o gewt wa o1 T STgiaa w1 e 8, WRd
22 TR WTSTE & ST ST o6 wferer st 8aff argereht o
e

73. The age of a tree can be determined by

ferelt Urg bt 3 fermren grr frerifia <t I wewelt 32

a) Measuring its height / s&et =g aaaT
b) Measuring its diameter/ S8k =aT& HIIAT
¢) Analyzing its sap/ 38 T8 a1 foredwor
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d) Counting the annual growth rings of its stem/

T T o aTMYeh Jfeg It s e

Explanation:

The age of a tree can be determined by
counting the annual growth rings of its stem.
Dendrochronology is the scientific method of
dating tree rings to the exact year.

TAHIRIT:

foreft Ug <Y 31 36k 7 o ATfNeh I I i et &
Frertfea ot ST Hepet R
SSIhHIATSIT U o Seal ol Gteh o e st i
s fafr )

74. Which among the following cities in India,

is not located in Golden Quadrilateral Road
Network?

ARA # FefoRaa & & &I 61 et i aqda ag@
Yoaeh U feora T 22

a) Kolkata/ sicishrar b) Mumbai/ 413
¢) New Delhi/ g feeeft  d) Chandigarh/ =i€ie
Explanation:

Among the following cities in India, Chandigarh
is not located in Golden Quadrilateral Road
Network. The Golden Quadrilateral is a
network of four national highways in India that
connect the country’s four major cities: Delhi,
Kolkata, Mumbai and Chennai.

TSR
wa & Fefafad wed § 9, < @it aqds aes
eareh H feora e 21 Tt TS e o = e s

T T 2 © SIT o= o AR e e faeett, I,
TS S AT o ST g

75. The head of the Government of India is

WA TR T T 7

a) Prime Minister/ J&m w5t

b) President/ Trseufe
¢) Speaker/ ahr
d) Vice President/ 3uteae

Explanation:

The Prime Minister is the head of the govt. of
India. He is also the leader of the council of
Ministers. He is the chief of the executive
branch of the Union Government.

TISRIT:

ST AT T 61 AR BT ) 38 HEHRSE 6 T
I 8| 98 h% T T HTESHIT T T @ 2T 2

76. How many seconds are there is an hour?
T ©eT § fhaw fehs B 87

a) 36000 secs/ 36000 Tshg
b) 3800 secs/ 3800 TeHg
¢) 4200 secs/ 4200 Ths
d) 3600 secs/ 3600 TFs

Explanation:

Number of seconds in hour = 60X60=3600
seconds.

TR

TS T Hehe shl H&AT = 60X60=3600 TS,

77. What is the nickname of Rabindranath
Tagore?

TEEATY SR ST SUATH T B2

a) Mahamana/ #em@-T

b) Gurudev/ T&d
¢) Adshah Khan/ sresmg @™
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d) None of these/ 3 & =g Tt

Explanation:

Rabindranath Tagore’s nickname was Gurudev.

Guru is a term of respect used to refer to a
teacher and Dev means of god. Thus, the word
can said to mean a divine teacher.

SqTEAT:

T esTer ST ohT 3UTH TTead 9T, TT&sl Ush T oo 168
3 FrerehT o= Ush firersh o fore fopam ST @ s g =
379 YIS 36 TR, 39 Y1e€ o 279 Ueh faexr f3reqes har
STT ThaT 2l

78. Which is the largest continent?
TaY TLT WETEIT i 6T 72

a) Europe/ T

b) Asia/ Tfsmm

¢) Africa/ 3TshieRt

d) North America 3% smfERT

Explanation:

Asia is the largest continent, covering about
44.58 million square kilometers and hosting
the highest population.

SqTEAT:

TSI B ST HRTE 2, ST et TV 44.58
forfeta at fercetfier R TR o2 SHeET 8 ff ge@ aIeT 2 |

79. PV Sindhu is associated with which sport?
et Rty fore @t & waifer §2

a) Badminton/ siefiiet
b) Squash/ ST
¢) Volleyball/ Sicitsiier
d) Cricket/ fsrare

Explanation: P V Sindhu is associated with the
sports of Badminton. She is born in Hyderabad.
She is an Olympic medalist (2016 Rio Olympics)

TR bt ot iy Sefiied T & waifaq 8 e s
TS | g1 98 SAleifueh aah forsiar (2016 fet
Acifue) 2 |

80. What is the age of retirement of a Judge of

the Supreme Court of India?

WA o T Tod ATATAd o ~ATATENT T AATHG T h
T T §?

a) 62yrs/ 62 I b) 68yrs/ 68 I
¢) 60yrs/ 60 I d) 65yrs/ 65 a8
Explanation:

The retirement age for a Judge of Supreme
Court of India is 65 years and 62 years for a
High Court Judge.

TISRIT:

T o T Ted ~ATTeT o ~ATrefer o fore danfrafa
AT 65 T 8 3TN I =ATATer o =rnefied 3 o
Hafafa i 317 62 7 21

81. Agra is situated on the bank of river?
I fore et 3 @ W fera 22

a) Brahmaputra/ &9 b) Krishna/ F=m
¢) Godavari/ meret

d) Yamuna/ 351
Exp.

Agra is a city on the banks of the Yamuna River
in the Uttar Pradesh. Agra is a best known for
Taj Mahal.

T eRTT,

SR 3T ST H AT A 3 T T 6T A 2 SR A
e o o Wt STaT ST ST 2
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82. Ringworm is a disease.

TETE oo W|TE

a) Bacterial/ sftamgy b) Protozoan/ ST
¢) Viral/ st d) Fungal/ w%s
Explanation:

Ringworm is a fungal infection of the skin, hair
& nails. It causes an itchy, red ring shaped rash
on the skin.

TISRIT:

2TE T, ST 3 ARG b1 Toh Wt HEhavT 2, I8 carall 0
GICAaR, AT SET o TR o 3T T FHIOT ST 2

83. What is the name of the famous tower in

Paris, France?

YT, e o Tfg ST o1 & AT 82

a) Eiffel Tower/ ufthet e

b) Big Ben/ ferram

¢) Tower of London/ 21aX 3% e

d) Leaning Tower of Pisa/ e = gehl #iR

Explanation:

The Eiffel Tower is a famous tower in Paris,
France. It is wrought-iron structure.

T IRIT:
Ufthet STa UTE, Whid § Uk Tfg 3o 21 = TTeT-Are i
AT R

84. On what date the 'World Population Day' is

observed?

fary sEREaT feae fore fater & aama Srar 22

a) 11th May/ 11 @
b) 11th July/ 11 S=E

¢) 11th April/ 11 318«
d) 12th August/ 12 3T

Explanation:

World population day is observed on July 11,
It focuses attention on the urgency and
importance of population issue.

TAHRIT:

fope St foar 11 §[Ts 2l H11 ST 8] I8 STHeean
&, ST ATceRTIeTahaT 371 Heeel T €A1 ahisd HEaT |

85. Who among the following scientists got

two Nobel prizes of which one was in Peace?

Fratafaa # & form Smnfes 1 31 Hraer geesr e
R @ wer writar o forg em?

a) Albert Einstein/ 3Tceid AL
b) H. G. Khorana/ w1, Sft. gt
¢) Linus Pauling/ forra difefr

d) Paul Berg/ dfet &t

Explanation:

Linus Pauling is the only scientist to have won
two Nobel Prizes, one in Chemistry (1954) and
another in Peace (1962).

TAHRIT:

T dfifetr warmmer Sefe € fSreeie & Aieier Jeehi fid 2,
T TR F W (1954) A @ wrif  (1962) |

86. In which state Malyalam language is

spoken?

TAATAR WTNT ForT T & St SATat 22

a) Karnataka/ #ics

b) Tamil Nadu/ afiemTg

¢) Andhra Pradesh/ 3171 yest
d) Kerala/ <
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Explanation:

Malayalam is primarily spoken in Kerala, a state
in southern India.

TSR

HAATH HET &Y Y 0 W o TS L H sl ST

87. Which of these is not part of the five layers
that form earth's atmosphere?

FH © S geall o ATTHSH T AT S arelt gt
oXat s fEear A 82

a) Thermosphere/ am Hgat

b) Troposphere/ arvrise

¢) Exosphere/ aifedes

d) Hydrosphere/ SieHes

Explanation:

Hydrosphere is not a part of five layers of
Earth’s atmosphere. Hydrosphere is a part of
water and oceans.

T IRIT:

ST et o ATHEd i aie Tl o et 7e 2
STCTHES STef e HETATT T Ush {1 2

88. Who was the President of India at the time
of emergency in 1975?

1975 W TUTAhTE o THT WA oh AECUTA hiT 2

a) Zail Singh/ 3« fég

b) VV Giri/ =it fiét

¢) Fakhruddin Ali Ahmed/ w@%E 31t 37ede
d) Shankar Dayal Sharma/ /e gaTer I

Explanation:

Dr. Fakhruddin Ali Ahmed was the President of
India during the State of Emergency (1975-77)

in Indira Gandhi Government.
TAHRIT:

e et TR § SATTdeRTe (1975-77) % 10 S
PHEEEH AT STEHE TR o TUfe 9]

89. Study of the universe is known as-
FRITUE 3 STEAE Y el AT &

a) Pathology/ efetsit

b) Cosmology/ sr@ms fam
¢) Ornithology/ u&fifamm
d) Geology/ st 3

Explanation:

The study of the Universe is known as
Cosmology. It includes the origin and
development of the Universe.

T RIT:

STRITS o STEI T STElS o o ®9 § ST STTaT 81 389
STalTe s Icufe A forehre et 2

90. Who was the first person to give the idea

of the Constitution of India?

WA o W a1 e 2 et worm safeh sl 47
a) Mahatama Gandhi/ J&Tcar et

b) Dr BR Ambedkar/ €T. st.31R. sfisgat

¢) Jawaharlal Nehru/ Stamet@aTe &6
d) MN Roy/ wa.aq. i

Explanation:

M.N. Roy was the first person to propose the
idea of a Constituent Assembly to frame the
Constitution of India in 1934.

TAHRIT:
TG, T 981 Atk 9 S8 1934 T 9 ot dfarem
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M o foTT wep dferer gvm st ferme seeanfera fapam om

91. Dayanand Saraswati was the founder of

which of the following missions?

TS Tt eferfaa & & fore o & weermen
a2

a) Arya Samaj/ 3 ga

b) Prarthana Sama/ ST gamt

¢) Brahmo Samaj/ sial aq T

d) Chinmaya Mission/ fa==r firgr

Explanation:

Arya Samaj was founded by Swami Dayanand
Saraswati in 1875.The organization aimed to
promote Monotheism and reject cast system.

TISRIT:

ST GHTST ST TATIHT ToTHY 2aTe e 3 1875 H ot off)
3 TS T SeTT UhHATATE ohl SIGTT <47 3T STfel sTareer
T SR SHEAT ol

92. is considered as father of Indian Space
Program.

Y TR 3iafeer HEAHT T AE HHET ATAT
Bl

a) CV Raman/ €3t =
b) Homi J Bhabha/ &t <. s
¢) Abdul Kalam/ 37s5e1 e

d) Vikram Sarabhai/ fesra ammsms

Explanation:

Dr Vikram Ambalal Sarabhai is the father of the
Indian space programme.

TR
<1, fasrm SFeTelTed IRTS YR 37afer shrfshw o St 2

93. By which name the main branch of river

Ganga is known as in Bangladesh?

TITT &t T W STRET et SiverTaet § foet e & S
SATAT 72

a) Jamuna/ ST b) Padma/ w=m
¢) Meghna/ #emT d) Kalindi/ =fetdt
Explanation:

The main branch of the Ganges River is known
as the Padma River in Bangladesh.

T RIT:

T T <Y T ST AT § T=IT el o 19§ S el
2.

94. What does Vitamin K deficiency lead to?
Trerfom K iy &t @ Fm g 82

a) Problem in digestion/ = & aw&m

b) Problem in Blood Coagulation/ & STad §
T

¢) Problem in Calcium Metabolism/ sfesrm
Heranfersy § guen

d) Night Blindness/ Tieft

Explanation:

Vitamin K is a fat-soluble vitamin that is
essential for blood clotting. It’s found in food
like green leafy vegetables, soybean and canola
oils.

TAHRIT:

forTfi K oo o o gereiier forerfim & ST T o ook s
& fTT 31199 B 98 20 oer afes R gmsi 37T
EEIRIGKESERISE R R RIS I k)

95. Which is the largest ocean in the world?

forg o1 Te@ TST WEETR S AT R?
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a) Atlantic Ocean/ sTeifes He@mR
b) Indian Ocean/ &g 7eTETR

¢) Pacific Ocean/ sTid HEETX

d) Arctic Ocean/ 3TTh{esh TETR

Explanation:

The Pacific Ocean is the largest ocean in the
world. It is also the deepest ocean.

TAHIRIT:

TSI AT {7 T Teid ST HETN 8. I8 e el
TRETH A R

96. The Lingaraja temple built during the

medieval period is located at:-
Trezrenter o ffife fermos wifew feora 2:-

a) Bhubaneswar/ sa=at
b) Khajuraho/ @sfrer

¢) Madurai/ #et

d) Mount Abu/ ATSZ 3119,

Explanation:

The Lingaraj Temple is located in Bhubaneswar,
considered a masterpiece of Kalinga
architecture.

TR

TSt wfeT et  feerd &, 578 i ameqera i Sche
i HHT ST 2

97. Which is the largest civilization in the

world?
Targ &Y wa@ 9 gvar STt E?
a) China Civilization/ == =t Twrar

b) Indus valley civilization/ g =t gt
¢) Mesopotamian civilization/ H&TdieT{E=T Fe=rar

d) Egypt civilization/ fir s @war
Explanation:

The Indus Valley civilization is considered as
the largest ancient civilization in the world.

TAHRIT:
T =net wrvara g ot Trerd Tt STl G A St 2.

98. Name the largest river in the world?
Tarey &y T @ Y 7T BT AW FaATU?

a) Nile/ et

b) Amazon/ 3T

¢) Yellow River/ dicft et
d) Brahmaputra/ s&rg"

Explanation:

The Amazon is the largest river of the world by
volume.

The Nile River is the longest river of the world
by length.

TAHRIT:

ST S 38 | ST foarg sht wed 9t T R
<fret 7 cheé o1 o & Frar o e et A 2

99. was the first human to go to space.
aierfeer ® ST Aol Ugel A A

a) Buzz Aldrin/ &1 tfega

b) Yuri Gagarin/ {t et

¢) Neil Armstrong/ et ez

d) None of the above 3T @ =is off &t

Explanation:

Yuri Gagarin was the first human to travel into
space on April 12, 1961 from the Soviet Union.
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TR

F TR 12 39, 1961 T ifererd wo & Sfafier 1 arm
EZEEIGRLRRIEER]

100. The deepest lake in the world is
g fram@ e e

a) Wular Lake/ et gitet
b) Lake Superior/ gHifer st
¢) Victoria Nyanza/ e =amsm

d) Baikal Lake/ &ertet 3ftet

Explanation:

Lake Baikal is the deepest & oldest lake in the
world. It is situated in South-East Siberia
(Russia).

TISRIT:

ST ST G T T el 3T Ha O #it 21 I8
gfeor-ud TSI (w6) & feard 21

SECTION C: - INTELLIGENCE

101. In a certain code language, 389 means
run very fast, 964 means come back fast & 487
means run and come, then what is the code
for ‘come’?

T AT shie wTeT H, 389 T 319 ® " 9 wiEe,
964 T 3T & "R Teh HTES" 3T 487 T 1 & " UT
HA", A" HA" F (AT R GT RIS BAT?

a)7 b) 9
c)4 d) 8
Solution:

By comparing 964 and 487 and their code
language we found that come and 4 are
common in both the code language
Hence code for ‘come’ will be 4.

TR

M1 " 7R 38 Code Language 31 T i W I8
I 2t @ foF come 37T 4 2T & Swafas R

37ufd come T HE 4 R

102.Z,X,?,N,F

a) T b) R
0)Q d) 0
Solution:

This series is moving in reverse order with the
multiple of 2.

Z, X, T, M, F
Lz N2 A J-=e )
TFHIT:

e T Ie A I T & TR AT 2 3 2 3 o ot
2

L F

X, M,
Lz s hs Jle )

103. If North-East becomes West and South-

East becomes North then what will West
becomes?

afg IO, ufer o= Tar § ot Sferr-ud, swad
HATAT &, AT TT /T S ATeT?

a) South-East/ gfaor-qa
b) North-East/ IT-gd
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¢) South/ afégor
d) North-West/ Ste-ufsm

Solution:

North-East=> West

South-East=> North

Each direction is 135° clockwise of previous
direction. So west will become South-east as it
is 135%anti-clocklwise of west.

Hence West will become South-East.

TAHIRIT:

I - FfFor

gfequr-ge- I

aeft fermm qet femm & 1350 amTerd 21 gwforg ofim fem
T 1350 STHTeIcT afefor e @ S7efa e aferor

& & 37T atam aferor-qe fam o S

104. Find the missing letters in the series, /
G | T e I @, CMM, EO0O, GQQ,

, KUU.
a) GRR b) GSS
c) ISS d)ITT
Solution:
+2 +32
CMM, EEG, GO, , Kuu
+H

In the given series, every alphabet is moving
forward by adding 2 in it.

C—oE, E—G
42 +2
M -0, 0—- Q
+2 +2
M -0, 0O— Q@
+2 +2
G-I, Q— S
42 +2

The next letter in the series is ISS.

TR

+2 +2
CWIM, EEG, GQaq,
—

. Kuu

fou T st B gt 31eR Y T A e B R

C—E, E—> G
+2 +2

M —= 0, 0O— Q
+2 +2

M -0, O0—- (@
+2 +2

G-I, Q— S
+2 +2

G H IFTAT & ISS T

105. 'GIVE' is written as 5137 in a code

language & 'BAT' is written as 924 in a code

language, then how 'GATE' will be written?/
'"GIVE' & Ueh ShIg WTST ¥ 5137 h &9 A ferar mar g

3T 'BAT' & 924 % &4 # for@m mar 2, a1 'GATE' &Y
&9 forat srome

a) 5427 b) 5724
¢) 5247 d) 2547
Solution:

GIVE , BAT

5137 924
So, GATE
5247
TAHHIT:
GIVE BAT
5137 924
g9 @8, GATE
5247

106. If 'Meat' is written as 'TEAM', then 'BALE'

is written as/ IfT 'Meat' 1 '"TEAM' & &9 # fer@m
AT R, 41 'BALE' @i ¥ o strom?

a) ELAB
c) EBLA

b) EABL
d) EALB
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Solution:

We have interchanged the alphabet in MEAT
it will be written as

MEAT -> TEAM

So, BALE will be written as

BALE -> EALB

TSR

MEAT ¥/sc # el 1 T Uk gL & seell 2

MEAT-> TEAM
dl, BALE =1 38 i ferar smarml

BALE -> EALB

107. While facing East you turn your left and

walk 10 yards; then turn to your left and walk
10 yards: and now you turn 45 degrees
towards your right and go straight to cover 25
yards. Now, in which direction are you from
your starting point?

S AT g hT SR TR HA &, A AT TS AR TS 2
R 10 7T <IeTd &5 TRt T8 o 7S € i 10 7T wrera
F: o o1a TTa aTS 3T 45 Feuft 7o ¥ of 25 Tt wrerar
1 a7, 31T SO yeeTet foig & ferw faom ¥

a) North-East/ 3t-qd

b) South-West/ gféror-ufsny
c) East/ o

d) North-West/ 3Tz-ufsm

Solution: /wagemur:

10 Yards

10 Yards

—_—
Facing East

108. 4,8,12,16, ?, 24

a) 10 b) 20

c) 30 d) 40
Solution:

The series follows a pattern of adding 4 to each
term:

4->8->12->16 > 20> 24.
TSR

ST § T HEAT H 4 ST ST &l 2
458212516220~ 24

109. Anil reached a place on Friday and

realized he arrived 3 days earlier. If he had
reached on Sunday, how many days earlier or
later would he have arrived?

AT Teh T2 JEHAR T UEAT| I8 qaT wrelT foh g oret
3 o wet s ® | afy 9w WA i ugeEr, @
forem fomr wet o are agerar 2

a) before 1 day/ 1 feTvgat
b) after 1 day/ 1 feaameg

¢) after 2 days/ 2 e =g

d) before 2 days/ 2 f&7 7eat

Solution:

Anil reached on Friday but was supposed to
arrive 3 days later, meaning his arrival day was
Monday.

If Anil had reached on Sunday, he would have
arrived 1 day earlier than the intended day
(Monday).

Thus, Anil would have been 1 day early if he
arrived on Sunday.

T RIT:

AT S[EFAT BT T, TR 30 3 o Tt Tge it e
=T, I 8 ST § AHAT i TE T |
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T S e i aan, @t 9 3 fo ("@am) & 1 fe
T gl

ZafeTy, 3R 9 erar h ageaT, @ 9% 1 e e ag=an

110.1,1,4,8,9,?

a) 36 b) 27
c) 49 d) 64
Solution: The series is -

12 13 22 23, 32 33
So the answer will be 27.
TR

12, 13, 2? 23, 32 33
THHT I 27 BT,

111. In a certain languages, TOUR is coded as
1234. How is CLEAR coded as 56784 and
SPARE is as 90847, then how is SCULPTURE
CODED in that language?

ek fAfara wrer &, TOUR &Y 1234 % w9 ® shifea femar
TRIT 81 CLEAR %Y 56784 % &9 ¥ X SPARE &t
90847 & &9 | shIfed ferat T 2, @ SCULPTURE &Y
I ATET A KA it foram I

a) 1453602347
c) 85360245

b) 953401347
d) 953601347

Solution/ TasterTur:
TOUR -

SPARE -

S P A R | E
9 0 8 4 | 7
SCLUPTURE -
S[CILIUTP[T[UR[E
s(e|3|0]1 7

112. If CBE means BAD the then GMBH means-
/ af& CBE T 21¢f BAD ¥, @ GMBH T 3721 &7 31712

a) GOOD b) FOOD

¢) FLAG d) FLOG
Solution:

CBE So, G M BH
-1-1-1 -1-1-1 -1
BAD FLAG

113. A & B are sisters, R & S are brothers,

daughter of A is a sister of R, then what is the
relation of B with S?

AR BEEAE, RARS WIE &, AR IA R AT TEAE,

AT B T S o | TSEr T 82

a) Mother/ @it b) Grandmother/ gt
¢) Sister/ s)g= d) Aunt/ =t
Solution:

A and B are sisters, A’s daughters is sister of R
and S. It means A has three children. So, B is
aunt of Rand S.

TAHRIT:

A 3B & 8] A i1 931, R 31 S 61 578 21 3Heh Haaie &
foh A o i ar= &) 38T, B, R SRS 3 AT (A1 #¥el) 2)

114.8:512::?
a)7:343 b)9:243
c)10:500 d)5:75

Solution: The cube of 8 is 512. By seeing all the
option 7:343 is best suited answer.

T RIT:
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8 & U9 512 Bal & I TER 7 H uA 343 ®al
H

115.100:121::144:?

a) 160 b) 93
c) 169 d) 426
Solution:/ TasieRTuT:

100 :121::144: 169
102 11* 122 13?2

116. Who is third to the left of 'D'?

'D' % TS 3T AT i &2

a) A b)E
o F d)C
Solution:

A B C D
1 |

D’s third left will be A.

D Y offerdt =g 31T A g

117.5:125::6:?

a) 225
c) 400

b) 216
d) 30

Solution: The cube of 5 is 125.
So, the cube of 6 is 216.
TR

SHIET 125 BT R
39 TR 6 T B 216 BT 2l

118.QTU : ILM : : JMN :?

a) PSZ
c) WZA

b) BEF
d) UXB

Solution:

Q T U
\L+#2 ) \ s )
\#2 ) k&)
\ +2 / \# }
B “ E " F

119. If the following words are arranged in

reverse order of dictionary arrangement, then
which word would come at third place?

g2 freafeRaa vset Y vTegen ot & A § 3¢ o
ARy feRaT AT, 9T e TATT UT i 9T Iee
JATT?

a) Occulist b) Odium
c¢) Odious d) Ordeum
Solution:

In reverse order Odious will come at third place.
F'JIEIIEH!UI:
3¢ 39 T Odious @R TIM T 3T@|

120. If + means +, + means -, - means xand x
means +then12+6-3-2x8 =?

TfE + T 31ef + B, + T 979k - ¥, - T 319l x F 3R x AT
e+, M12+6-3-2x8=?

a)-20 b) 40
c) 20 d) 80
Solution:
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12+6x3x2+8=7

2x3x2+8

=6x2+8

=12+8

=20

121. Rahul put his timepiece on the table in
such a way that at6PM the hour hand points to
North, then in which direction will the minute
hand point at 9.15 PM?

TE A U TS T 36 TR ¢aet W TN o 6 T e
T Z I hT S IR Tl &, v 9:15 I Toere <t

T3 form fam & gormr sRwt?

a) East/ b) South/ aféor
¢) North/ 3 d) West/ ufsm
Solution:

According to the question the hour and the
minute hand of the time piece is like this / 3% &
FFER = R fime it g5 @ TR 2

So at 9:15 PM the Minute hand will be

9:15 PM W fire 4% %® 39 YR anft

hourhand  Minute hand

e -3

So, minute hand will be towards west at 9:15
PM

e g8 9:15 W fer i T g@ Hfl
122. If CAT = 12. then MAN = ?
I CAT =12, AT MAN = ?

a) 14
c) 16

b) 24
d) 15

Solution:
C AT

ay

3 120
3+1+20=2
. 24
Divide by 2; B, 12
MAM

n

13114
13+1+14=28
Divide by 2
?:14

Hence Answer is 14

TIHeRTT:

|

= — 3
B e— 4

3+1+20=24
2 3 fafora

212
2

MAMN

|

13114

13+1+14=28
2 9 fawfoa

214
2

AT IR 14 T
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123. 1. Bound 2. Bonus 3. Bunch 4. Board

a)1,4,2,3 b) 2,4,3,1
c)4,2,1,3 d)4,3,2,1
Solution:

According to Alphabetical Order
4. Board
2.Bonus
1.Bound
3. Bunch

TISRIT:

FUTHTAT FH % AT
4. Board
2.Bonus
1.Bound
3. Bunch

124. AROUND: RAOUDN:: GROUND: ?

a) RGUODN
¢) OUNDGR

b) NDOOGR
d) DNUURG

The option of this question is incorrect

L

RA UODN

GROUND

RG UODN

125. Rashmi is 14th from the right end in a row

of 40 girls. What is her position from the left
end?

T 40 TTSfoRaT it Ufeh o 218 31X 1441 3 S@eht fRufar
TS IR FATF?

a) 25"/ 259
b) 27" 274
¢) 21% 214t
d) None the these/ 57 & &1$ &t

Solution:

Total no. of students in the row=40

Rashmi’s position from the right=14

Formula:-

Position from left=(Total Students-Position from
right)+1

(40-14)+1

26+1

The answer is 27.

TSR

el A=a1=40

I b1 ¥ SRt e T =14

I R TR%=(Hel FAT—aR— dRB)+1
F GEAT=40

9w 1 T Rl aUh=14

T SRt Th=(FeT SEAT-aRT )+ 1
(40-14)+1

26+1

27

126.4:15::6:?

a) 35 b) 34
c) 36 d) 30

Solution:

4:15

In this question
4x4-1=15
Similarly, in 6:?
6x6-1=35

T RIT:

4:15
AR
4x4-1=15
T IR, 6:7
6x6-1=35

127.10:101::20:?
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a) 401
c) 120

b) 402
d) 160

Solution:/ TagteRTuT:

10:101
10x10+1=101
Similarly, 20:?
20x20+1

=401

128. Cis a nephew of A's father. D is A's cousin,

but not C's brother. How D is related to C?

C, A % TUaT &1 91T 81 D, A T TI=RT |TE &, AR C
T HTE 7S 81 D &7 C A ey v 87

a) Father/ fuar
¢) Mother/ =it

b) Sister/ st
d) Aunt/ =m=it

Solution:

Cis the cousin of A. It means D is the sister of C.

TR

C, A FT =T ATS/a8 g1 29T qaad D, C & a8+
2l

129. Find the odd one out.

a) Mars/ 57t b) Sun/ gt
¢) Jupiter/ SEEafa d) Saturn/ =if¥

Solution: Besides Sun all other are planet.
TASHIT:
Sun = IR R TT TE F TH R

130. Five boys participated in an education

competition.

il Ageht A Ueh Frerfurer faanfiar o amr foram)

(i) Arsh ranked higher than Samay./ =i 3 g@a @
St o T il

(ii) Samay ranked higher than Pratik./ @5 3 Jdish
T et L& ITH )

(iii) Arsh ranked lower than Nikhil./ 3=t 3 ffaer &
& L I |

(iv) Kabir ranked between Arsh and Samay./
el T 379 3T AT & e {ok 9T |

Who ranked the highest?

Y Ioo Yo foRaehl 22

a) Nikhil/ ffaer b) Arsh/ arst
¢) Samay/ 9wz d) Kabir/ &R
Solution:

By arranging the data given in the question, we
get-

1. Nikhil
2. Arsh
3. Kabir
4. Samay
5. Pratik

TAHRIT:

T 1 &) 178 SR hl SFa e i U, 6 TH 8T 8-

1. Ffaa
2. 313t
3R
4997
5. UdteR

131. Reena said "The woman walking on the

road is my father's wife". How is the woman
related to Reena?

AT T HET "I W el At il far fr o gy
3T g &1 T & T HE 32

a) Sister/ sig< b) Aunt/ ==t
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¢) Mother/ #t d) Daughter/ st

Solution:

Her father’s wife is her mother.
TR

Il form it uedt JTeht A Bt 2l

132. From the given alternative words, select

the word which can not be formed using the
letters of the given word: "NATIONALISATION"

T T fareredt & & o8 wieg 9+ e fg g wew
"NATIONALISATION" & 378 ST SUTNT hidh T2t
FATET AT TR

a) NOTATION
c) INSTALLATION

b) SALINATION
d) SANITATION

Solution:

INSTALLATION word can not be formed from
the given word, because the word has only one
L.

T IRIT:

& TTC 9752 & INSTALLATION Sfeq el 57 Hehal & Ffeh
31e2 | el U L .

133.2,5,9, (...), 20, 27

a) 14 b) 16
c) 18 d) 24
Solution: / TagierTut:
2, 5, o, 14, 20, 27
| J\ J\ I I\ J
+3 | +5 5 7

134. AFHO : CHFM : : GBDJ :?

a) GBIM
¢) GPLD

b) GBLD
d) IDBH

Solution:/ Tasterur:

G B iZJ 1
| i
-i-2 +|2 -2 -|
| O B H

135. If PAINT is written as 63257, SHIRT is

written as 15297, then how HAIR would be
written?

IfE PAINT T 63257 % &0 | for@r mam 8, SHIRT &t
15297 % w9 ¥ for@m ma &, 9t HAIR &t & ferar
HTET?

a) 5279 b) 1982

c) 5329 d) None/ =g &t
Solution:/ TasieRtur:

PAINT SHIRT HAIR
63257 15297 5329

136. A woman introduced a boy & said: "His

uncle's (mama) uncle (mama) & my uncle
(mama) are brothers of each other" What is
the relation of the woman with that boy?

Teh T ¥ Ueh TTgeh ohT UIERT 34 §U hel: "S6h HIHT
T HTAT A WY HTAT 0T | 3T UiEAT 130 oTgh o
T Ha ey §?

a) Aunt/ =it b) Mother/ #t
¢) Grandmother/ 3@t d) Sister-in-law/ st
Solution:
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The woman says that the boy's uncle's uncle
and her uncle are brothers, which means the

woman and the boy's uncle (mama) are siblings.

This makes the woman the boy's mother.

FIERIT:
TAHIRIT:

HiGeTT 3 et foh TTgh o WTHT ST HTHT 3R 36 HTHT SH1
TS &, U AqoTs & foh Al 71 Tgeh o HTHT WTE-se
THITU, WieedT 36 TS shi 07

137. A clock shows time 7:30 hrs. If the minute

needle shows the West, then what will be
direction of the hour needle?

T g H THT 7:30 A ) AT T i gg atee Ay
SR E, ot e 6t g formr faom & w2

a) North/ 3@
¢) N-W/ S-afgm

b) N-E/ ST
d) S — W/ gferorafam

Solution:

3 south

6 west

From the figure, we can conclude that the hour
hand is in North West direction.

TR

ot & & o1 ool foobrer wremat o w2 o g8 som-ufam
fesma g

138.97,90, 76, 55, ?

a) 28 b) 27
c) 26 d) 25
Solution:

97,0, 10, 25, 21
\ N J\ J\ J
-7 -14 -21 -28

139. Arrange the following words in the

sequence in which they occur in the
dictionary:-

freferRaa sreat i sregeniyT & IR FHEGAT H
TARYT H:

1. Select 2. Seldom 3. Send 4. Selfish 5. Seller
a)l,2,4,5,3 b)2,1,5,4,3
c)2,1,4,5,3 d)2,5,4,1,3
Solution/ TagieuT:

According to the Sequence of dictionary/

Dictionary & 3J9R

2. Seldom
1. Select
4. Selfish
5. Seller
3. Send

140. Select the odd one out

o =)

a) 100 b) 194
c) 101 d) 108
Solution:

101 is only Prime number in the Option.
Fqg":ﬁu”:
101 2 frehedl § UsHAT T9TST €& 2

141. India : President : : State : ?
WA : gl : : T ¢ 2

a) Prime Minister/ Jamest
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b) Governor/ TsadTeT
¢) Chief Minister/ gt
d) Mayor/ %=X

Solution:

India’s first citizen is President. So State’s first
citizen will be Governor.

TSR

& TR WA T e A Tgafd AT 3Y e YR
TSI o1 YgeAT AT TR Bl &

142. In a joint family, there are father, mother,
3 married sons and one unmarried daughter.
Of the sons, two have 2 daughters each and
one has a son. How many female members
are there in the family?

Tk HYE UNAR # foar, wrar, 3 et 9 o uw
rfarantea ot ¥l 9t ® A, 2 % ure 2-2 feat § st ww
% UTH ek 2T 8| UNER ® et fehert wfeer aee §2

a)2 b)3
)6 d)9
Solution:

The number of females=9
(1 mother,3 Daughter-in-law, 5 Grand
daughter)

TR
T ot et dEe=9
(19, 395, 5 9

143. If + means +,x means -,- X means x &
+means +,then38+19-16x17 + 3=?

It + oAt 319l + B, x Rt 19 - §, - T 379f x ¥ 3T + a1
HA+3,AT38+19-16x 17+ 3 =?

a) 16 b) 19

c) 18 d) 12

Solution: /vasieror:

38+19%x16-17+3
=2x16-17+3
=32-17+3
=35-17

=18

144. In a certain languages, MNOPQ is coded

as ABCDE. How is QPONM coded in that
language?

ek T3 9mer #, MNOPQ %t ABCDE % %9 | shig
foraT T 1 QPONM i 3T WTHT # & his fomam

|TTT?

a) EDCBA
b) BDCBA
¢) CBABD
d) EDBCA

Solution:/ TagteRTuT:

M

O—o

Pe—3z2 m—L0

NO
I
a3

145. Abhishek pointed a girl & said: "She is the

daughter of my father's only child." How
Abhishek's wife is related to that girl?

AT 7 Tk TTSehT el ST IITRT &hTd 5T HaT: 98 W
forar o weRedta o Rt et B rfimes A uet 3@
wIgeht O forl T Heifera &2

a) Mother/ =it
b) Sister/ s&
¢) Aunt/ =m=it
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d) Daughter/ st

Solution:

Abhieshek’s wife is the mother of that girl.
TR

e it Ut 37 Treeh 3 A Rl

146. A man goes to the market which is 5 km

away from his house & then he goes to a fair
at 2 km distance. Then he comes back to his
house. How long distance did he cover in the
entire journey?

Teh ATEHY 5 Torwt gt AT WAt § of o 2 et
Her W 1T §1 R 9 S1u O STuE AT ¥l 3E W
TR forat g T <

a) 7 km/ 7 ferft
b) 3 km/ 3 Tt
¢) 14 km/ 14 forrft
d) 15 km/ 15 feret

Solution: / Tasiesur:

House 5 km 2km fair

market

7+7=14 km
147. CAT,DBU, ECV, ?

a) FDW
c) DFW

b) FWD
d) WDF

Solution: / TagteTuT:

CAT ECV
Ry
+1+1+1 +1+1+1
NN
DBU FDW

148. Paper : Tree: : Glass : ?

HETH : UG : /i : ?

a) Window/ faeshi
b) Sand/a@

¢) Stone/ e

d) Mirror/ gdur

Solution:

Paper belongs to Tree
So, Sand belongs to Glass.

TOHTRIOT:

TS U O G (Ud §, SATAT Id shig & Heifod g

149.3:27::4:?

a) 140 b) 75
c) 100 d) 64
Solution/ Tagiesur:

33=27

43=64

150. A person goes 5 km. towards the East &

then he goes 4 km. after turning to the right.
Then he turns to the left & goes 5 km. In which
direction is he going?

T =t 5 FeReft adt <t i ST § ofie fiRt e ard i

TR 4 Toret wmar 21 o e g ot et 5 feneft
T 31 9% fopw feon A A e 82

a) North/ 3w
b) South/ gfaor
c) East/ o

d) West/ ufsm

Solution/ Tagiesur :

He is now facing east direction.

78 379 g farwm ot 3R Hg @
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Solution:/ Tastesur:

5 km

4 km

5km

—

East
Direction

SECTION D: - MATHEMATICS

151. The difference between the greatest two

digit number and the least two digit number is.

31 3Tkl <Al T TS TEAT 3T a7 3kl 6T TTH BT

AT & e &7 IR B

a) 10 b) 89
c)2 d) 99
Solution:

Greatest two digit number — 99
Least two digit number — 10
According to Question
99-10=89

TR

3T 37ehT <l T ST HEAT — 99
3T 7RI hl T BT TEAT— 10
T % AER

99-10= 89

152. 67.395x7=

a) 47.1765 b) 47176.5
c) 4717.65 d) 471.765
Solution:

97.395x7 =471.765

TIHeRTOT:

97.395x7 =471.765

153. A boy gets 25 marks out of 80 and fails by

15 marks. Find the percentage of pass marks.

Teh TSk ohT 80 | & 25 afeh TreTa & 3R &g 15 stRt &
et B HATAT 81 ITT0T 37eRT T TTa9Td AT ShIf™TO)

a) 40% b) 30%
c) 33% d) 50%
Solution:

Boy gets = 25 marks

Fail by = 15 marks

So, passing marks = 25 + 15=40
Total marks = 80

Passing marks percentage = g x 100

=50%
TR

S I fired = 25 37k
%l = 15 37

ST, JTAIT 37 =25 + 15 = 40
F 3 = 80

Iftot 37k gfeTd = 40/80x100
=50%

154. Write the smallest 3-digit number which

will not change on reversing the digits.

1 aieht <At Tad Bt T forau St st Y 3oty
R T FgeT)

a) 100 b) 888
c) 999 d) 101
Solution:
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First digit should be equal to last digit so first
three digit number =101

TSR

el 3ok SHH 3ok o Se BT TTET SETeTy Taed o
e S gE&Ar = 101

155. Ramesh packed 1350 apples equally into
bags of 5 apples. How many bags need?

THIT T 1350 Tt T 5 Tt 6T Aferat § 04 &7 o TR
feram) e & =nfzw?

a) 265
c) 280

b) 270
d) 285

Solution:

Each bag =5 apples

. 5
Total no. of bags required = %

=270
TR

T ST = 5 Eel
AT ST hT ot HEAT = 1350/5
=270

156. The decimal form 30 + 7 + 2/100 is
30 +7 +2/100 T SIHAST EG &

a) 307.2 b) 37.002

c) 37.2 d) 37.02

Solution:

30+ 7 + —
100

30+7+.02
37.02

T RIT:

30+ 7 + —
100

30+7+.02
37.02

157.0 + 27523:

a)l b) 0
c) 275 d) None of these/ 8 @
EIEE ]

Solution:
0+27523=0
TOSRIT:
0+27523=0

158. The exponent of 8 is

8 hT UTdieh :

a)o b) 1

c)8 d) None of these/ 78 @
IS TEl

Solution:

Exponent of 8

=2 X 2 X 2

=23

So 3 is correct answer.

TIETRT:

8 T =TI

=2x2x2

= 23

3 3 TE I

159. Find the area of Square Park. Whose

perimeter is 640m?

TR UTeh ST STl AT il Forarent aiaTT 640 Hiex
2

a) 28900 b) 25600
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c) 32400 d) 8900

Solution:

Given perimeter of square part = 640 m
Perimeter of square = 4 x side

640 = 4 x side

Side = 160

Area of square = (side)?

= (160)2

= 25600

TIHRIT:

af ot T TR T i = 640 Hiex
3T ST AT = 4 % 9SIT

640 = 4 x ST

TS = 160

ot a7 dpreet = () 2

- (160)?

= 25600

160. How many three-digit numbers are there

in all?

A siht et Set TRt ATt €2
a) 900 b) 999
c) 499 d) 566
Solution:

Three digit numbers starting from 100 and
ending with 999

So total number of digit from 100 to 999
=999 -99

=900

TR

100 ¥ Y& 81 999 T EeH B ATl oI SiehT shl e
A 100 & 999 T Tt 3T oh e

=999 - 99

=900

161. Anju scored 39 marks out of 60 in Maths
test. What % is this?

3T et TIUTA <t TfverT § 60 ¥ & 39 sies fren =g foraw
wfeera §?

a) 75% b) 35%
c) 60% d) 65%
Solution:

Anuj scored 39 out of 60
39
so percentage = (5 X 100) %
13
= (E X 10) %
= (13 xX5)%
=65%
Fq§|35(UI:
IS A 60 T ¥ 39 37 FTH TR &, AT 3T TR 39 THR
fRTeTT SO
39
=(£x 100) %
13
=(2x10)%
=(13 xX5)%
=65%

162. The sum of all the angles of a

quadrilateral is

ma@ﬂj@r%aﬂﬁaﬁvﬁwﬁw T
a) 360 b) 180

c) 90 d) 120

Solution:

Sum of all the angles of quadrilateral
=(n-2)x180

=(4-2)x180

=2x180

=360

T RIT:
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ECEET T B
=(n-2)x180

= (4-2)x 180
=2x180

=360

163. Simplify: 2.5+2.5+0.5x2 -4

A TATC: 2.5+2.5+0.5%x2—4

a)8 b) 8.5
c)6 d) 10.5
Solution:

25+25+05%x2-4
by using BODMAS

=254+25x—x2—4
0.5

=25+10-4

=25+6

=85

AT

25+25+05%x2-4

BODMAS 3h1 30317 Shish

=25+25x—x2-4
0.5

=25+10-4

=25+6

=85

164. Find the length of a rectangular

playground in cm whose area is 700 sq. m and
breadth is 25 m

Ueh ATIATRR T o BT hl #aTg AUt o 71 hife
RrorerT et 700 Tt Hiex o et 25 Hiex ®

a) 2800 b) 2500

c) 1400 d) 1000

Solution:

Given, Area of Rectangular playground = 700 sq
m

Change into c.m

Area =700 x 100 x 100 sq c.m

Also Given, Breath = 25m

=25x100 c.m

Area=1Ixb

700 x 100 x 100 = | x 25 x 100
_ 700X100X100
T 25x100

=700x4

=2800
TISRIT:

fermr 7T B, ST W 3 HeH 1 &hed = 700 S HiT
et o st

&A% = 700 x 100 x 100 I Tt

Trer & fomm e 2, <er = 25 e

=25 x 100 9t

&S] = of x =,

700 x 100 x 100 = x 25 x 100

. = (700%100x100)/(25%100)

=700 x 4

=2800

165. The HCF of 12 and 16 is

12 3 16 T HCF ®

a)2 b) 4
c)6 d)1
Solution:

HCF of 12 and 16
12=2x2x3
16=2x2x2x2
HCF=2x2=4

T RIT:

12 30T 16 T HCF
12=2x2x3
16=2x2x2x2
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HCF=2x2=4
166. HCF of 90, 96 and 10 is

90, 96 31 10 T HCF &

a)2 b) 6
c) 10 d)1
Solution:

HCF of 90, 96, 10
90=2x3x3x5
96=2x2x2x%x2x2x3
10=2x5

HCF =2

TISRIT:

90, 96, 10 sT HCF
90=2x3x3x5
96=2x2x2x2x2x3
10=2x%x5

HCF =2

167. The different between the predecessor

and the successor of one million is

T fuforas o gaadt ofR Il o ot iy
4

a)1 b) 2

c) 1,000,000 d) 1000001

Solution:

Predecessor of million = 1000000 — 1 = 999999
Successor of one million = 1000000 + 1 =
1000001

According to Question = 1000001 — 999999 =2

T IRIT:

TP =1 JEardt = 1000000 — 1 = 999999
T fHferam 1 STTERRT = 1000000 + 1 = 1000001
T % STTER = 1000001 — 999999 =2

168. The greatest 5 -digit number is

5 3R h! HEY T HEATE

a) 99999 b) 100000
c) 98765 d) 56789
Solution:

Greatest 5 digit no. = 99999
TASHIT:
o T 5 3R TEAT= 99999

169. Amit exercises every 12 days and Ishan

every 8 days. Amit and Ishan both exercised
today. How many days will it be until they
exercise together again?

affmm 12 A H e Sy R 8 Rm d s e &
AT 3T F9T ST 7 ST UFATHTSS <hl. 372 fom &

ek AT SATATH & 7 foraa fomr et
a) 24 b) 22

c) 20 d) 26
Solution:

Amit exercise every 12 days
Ishan exercise every 8 days
LCM of 12 and 8
LCM of 12 and 8

2 |12.8
2 |6,4
2 [3,2
3 (3,1
1,1

LICM=2x%x2x%x2x3=24
TR

Sy &€ 12 fog o s swear @
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T &L 8 o o sy shear @

172. I1f 10 men can do a piece of work in 4

12 8 HTLCM days, how many men will be required to get
2 12,8 the same work done in 5 days?
2 |64 i 10 arrash R r w4 B i a TR 8, A s
2 13,2 T 5 e i our et 36 fery Rt smafira oy
3 131 SATITAHRAT B2
1,1
a)8 b) 10
LCM=2x2x2x3=24 c)6 d)12
170. Find the value of abc, a = 18,b = 10,c = Solution:
6. 10 men = 4 days (1 complete work)
abe T HI FTA hIfsi a = 18, b = 10, ¢ = 6. 10 x4 men=1days (1 complete work)
1% men=5 days (1 complete work)
a) 1008 b) 1800
8 men =5 days
c) 1080 c) 1006
TSR
Solution:

a=18,b=10,c=6 (Given)
abc=18x10x6
=1080

TR

a=18,b=10,c=6 (R ™ ®)
abc=18x 10 x 6
=1080

171.8.680 x 12

a) 104.06 b) 104.16
c) 104.26 d) 104.36

Solution:

8.680 x 12
=104.16

T RIT:

8.680 x 12
=104.16

10 STTeHT = 4 o (1 30 1)

10 x 4 3TaHT = 1 T (1 900 %)
(10%4)/5 FTeHt = 5 & (1 T )
8 aTadt = 5 faq

173.1, 8, 27, 64,
a) 25 b) 37
c) 79 d) 125

Solution:

1,8,27,64
13 23 33 43
Similarly Next term 53 = 125

T IRIT:

Tt g sTer ag 53 = 125
1,8, 27,64
13,23 33 43

174. 12345 x 15 - 2469 x 25 =

a) 143350 b) 124460
c) 122420 d) 123450
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Solution:

12345 x 15 - 2469 x 25
185175 -61725
=123450

TSR

12345 x 15 - 2469 x 25
185175 -61725
=123450

175. The product of two numbers us 10,800. If

one number is 90 what is the other number.

3 HEATS T UGS 10,800 71 A U TEAT 90 7, X
Tad AT AT 7?

a) 100 b) 140

c) 110 d) 120

Solution:

Given one number =90
Product of two = 10, 800
Let second number be x
Sox X 90 = 10800

X = 1098000 =120

TAFHIT:

femmng

T T = 90

21 HEATEAT T TMEA = 10,800

W ATTSTT el T hl x FETC

90xx=10,800

A, x I (eTer o forg ST wedi 36 90 & forTora =i
10800

x = o0 120

176. Find the missing number in the box in the

following proportion:

FrafafRaa s & S A e eI @ : 5
12: 60

a)1 b) 4

c)6 d)2
Solution:

__:5::12: 60

Let the missing number be x
x:5::12:60

Product of extreme = Product of mean
xX60=5x%x12

_5x12 _ 60
T 60 60
x=1
TOFRIOT:
~:5::12:60
I ST 0 T x &
x:5::12:60
TR T OB = HIE T UG
xx60=5%12
5x12 60
X = = —
60 60
x=1

177. The greatest 8 — digit number with given
digits 5, 8,7,5,2,0,6,and 1 is
feumu et 5, 8,7, 5, 2, 0, 6, 3R 1 & AGH TT 8 ekt

HT AT FTE?

a) 88765210
c) 88765521

b) 87765521
d) 87655210

Solution:

Given digit5,8,7,5,2,0,6,1
Greatest 8 digit number
= 87655210

T RIT:

feumu 3 5, 8,7,5,2,0,6, 1
ol S § IhIT H&AT
= 87655210

178. 1 am a prime number. If you subtract 1
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from me, | will be divided by 9. Who am I?

H Tk AWTST HEAT G| A AT T [ qera 8, AH 9|
Forerfora & srem A 2

a) 29 b) 19
c)17 d)11
Solution:

The number is a prime number, and when you
subtract 1 from it, the result is divisible by 9.
Let's check each option:

29-1=28,and 28 + 9 = 3 remainder 1 (not
divisible by 9).

19-1=18, and 18 + 9 = 2 (divisible by 9).
17-1=16,and 16 + 9 = 1 remainder 7 (not
divisible by 9).

11-1=10,and 10 + 9 =1 remainder 1 (not
divisible by 9).

TS eRTuT:

T AT Tah TS HEAT 7, 7 STeT 3719 36 ¥ 1 ¥eld &,
ar aftorm 9 & fastrsa g 2

ST Yedah foremed T Siter

29-1=128, 328 +9 =331 (9 & farreg 7&)|
19-1=18, 3 18 + 9 =2 (9 & forrsa)|
17-1=16,3R 16 +9 =139 7 (9 & forqrear 7))
11-1=10,3R10+9 =131 (9 & forvrear 7€)

179. (16 = 4) = 4 is equal to

(16 + 4) + 4 T U T &2

a)a b) 3
c)2 d)1
Solution:
(16+4)+4
Using BODMAS
= (16 X l) x =
4) " a

—4x:

4

=1
TAHRIT:

(16+4)+4
BODMAS T 3UINT Fleh
= (16 X 1) X !
4 4
=4 x>
4

=1

180. Sum of -36 and 29 is

-36 31T 29 FHT AT FATE?

a) -65 b) 65
c)-7 d)7
Solution:

Sum of -36 and 29
=-36+23=-7

TISIRIT:

36 3T 29 FT AT
=_36+23=-7

181. What is the least number which when

divided by 24, 36 leaves in case the same
remainder 8

TIH B WEAT AT 24, 36 @ @ s w g viw
Bigdl &, FATE?

a)73 b) 79
c) 80 d) 87
Solution:

Least number which when divided by 24, 36
LCM of 24, 36
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24, 36
12, 18
6,9
2,3
1,3
1,1
LCM = 2x2x3x2x3 =72
According to Question, leave the same

W w‘m|m

remainder 8
So,72+8=80

TR

8 =Aad we i 24 & forfoa s w36 ww ek @
24, 36 T AIH FHTTEH

24, 36

12, 18

6,9

2,3

1,3

1,1
LCM = 2x2x3x2x3 = 72
T 3 SATAR ATHA 8 & T 3
3T, 72 + 8 = 80

wN w‘m‘m

182. The smallest composite number is

a)4 b) 1
c)9 d)6
Solution:

A composite number is a whole number that
has more than two factors So 4 is the smallest
composite number.

TR

TS HEAT 9 Y07 §EAT Bt @ Foreeh &1 § S7fereh e
TId 31 3d: 4 G DI AT H&AT 2

183. The sum of three consecutive odd

numbers is always divisible by

o AR feree Earatt st I gae e e
AT e?

a)3 b) 9
c) 15 d) 21
Solution:

The sum of three consecutive odd numbers
Let any three consecutive odd numbers
1+43+5=9

Any other three consecutive odd numbers
5+7+9=21

Always divided by 3

T RIT:

= TR forsm St s A

o Sy fos 1S oft i era farey e
1+3+5=9

15 ot 371 f TTaR form T
5+7+9=21

THem 3 ¥ fofomal

184. The cost price of 20 books is the same as

the selling price of ‘X’ books. If the profit is
25%, then the value of X is?

20 TEhT Y T Todt 3t 21 & Forat o6 X gt
Y fershy wean afs @ 25% 2, A X 1AW e

a) 25 b) 18
c) 16 d) 15
Solution:

CP of 20 books = SP of x books
CP_x

SP 20

LetSP=20,CP=x

Profit % 25%

Profit = SP— CP
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=20—-x
Formula
Profit

Profit % =
cP

25 = 2°x"‘ x 100
25 x = 2000 — 100 x

125 x = 2000
2000

125 16
TAHRIT:

x 100

20 FEehT T 5T Hed = x TEh! 1 56 7o
I HA/h3 {eI=x/20

HH TSI 362 qed = 20, 357 7o = x

A % =25%

AT = 563 Tl — 39 el

=20 -x

el

AT % = /56 % 100

25 =22 %100
X

25x =2000 - 100 x
125 x = 2000
2000
= E =

16

185. Thevalueof (-3 -(2-3)+5-7)is

(3-(2-3)+5-7) ®_IUAHETE?

a)-2 b) 3
c)4 d) -4
Solution:

(-3-(2-3)+5-7)
Using BODMAS
=(3-(2-3)+5-7)
=(-3+1+5-7)
=(6-10)

=-4

T RIT:

(-3-(2-3)+5-7)

BODMAS #hT 3UINT Teh
=(-3-(2-3)+5-7)

=(-3+1+5-7)
=(6-10)
=-4

186. How many faces are there is cuboid?

HATIA o T WeTeh Bid 872

a)4a b) 5
c)6 d) 8
Solution:

A Cuboid has six faces
F‘-'IE'lEFRUl:
Teh T 3 B HeTsh Bl &

187. 36 boys can do a piece of work in 49 days.

How many extra boys should be required so
that he work may be finished in 21 days?

36 TTgeh feRelt shTe ot 49 ToAT o oXT ot Wehel 1 e
arferfter ergeh wfRy avfer o 21 T3t & oar g @k

a) 40 b) 42
c) 45 d) 48
Solution:

Total days to complete work by 36 men =49

days
Work done in each day by 36 men = é
1day1men= work

49x36

Men required to complete work in 21 days
Work done each day = 2—11

Let no of men required x
1
X =—
49%36 21
_49%36
To21
So, 84 men are required to complete the work

= 84 men

in 21 days
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Extra men required are:- 84 — 36 = 48 men
TASERIT:

36 oS g 1 QU G H et fod = 49 fo
36 it T ek fo o et =
1R 1 s = —

49%X36
Tt i 21 Tt & T 90 AT g
T o feorar m st = 1/21

T foF STTarwreh oSt ol 6T x §

1 1
XX =

49 X 36 21
:49><36:84&_5q

21

A, 21 Tl o o g o o o 84 oSt oAl SATerwshall Bt
TR Fos 2l AT 2:- 84 — 36 = 48 T&W

188. If 3/4 is equivalent to x/24, then the

value of x.

TfE %, x/12 o SRTER 7, A7 x T AT T 82

a)a b) 6
c) 12 d) 18
Solution:

According to Question
- *
T 24

X 24 =x

= R W W

8=x
TR

T % ITEN

)

S

24
X 24 =x

8=x

= W s w

189. Find the greatest number which will
exactly divide 200 and 320

200 31X 320 T Tt € 9 9T e et aa @
ST A AT R?

a) 10
c) 16

b) 20
d) 40

HCF of 200 and 320
200)320(1
200
120)200( 1
120
80)120( 1
80
40)80(2
80
x

HCF 200 & 320 =40
So 40 is the greatest number
which will exactly divide 200 and 320.

TISRIT:

200 3T 320 T HCF

200J320(1
200
120) 200( 1
120
80)120(1
80
40)80(2
80
x

200 31T 320 &1 HCF = 40
I 40 T TS HEAT R
ST 200 3R 320 1 Ui forrfora s

190. The smallest 5-digit number that is
divisible by 9 is.

9 T freTfRra 21 STelt Ta® BieY 5 3t hi HEaT FT
72

a) 10019 b) 10013
c) 10032 d) 10008
Solution:

The smallest 5-digit number
10000
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9) 10000 ( 1112
9

10
9

10
9

10
13

-8
So required 5-digit least number that is divisible
by 9 is
10000 + 8 = 10008

TR

He8 BT 5 ehiT GE&AT 10000 ©
9) 10000 { 1112

10

10
18

-8
HA: 5 3ol ohl T =IH HEAT S 9 ¥ =T &, 10000 + 8
= 10008 &

191. Ages of Ajay, Amit and Satish are 10, 12
and 14 years respectively. Find the average

age.

T, AT 3R TAT9r 1 3T HAI: 10, 12 3T 14 99
2 oftEa ST FTE?

a)10 b) 12
c)11 d) 13
Solution:

Given Age of Ajay = 10
Amit =12
Satish =14

10+12+14

Average age = 3

_36
T3
=12

TAHRIT:

AT HT AT = 10 ATE R
A = 12

e = 14

HIEa 3 = (10+12+14)/3
=36/3

=12

192. The least number of 4 digits exactly
divisible by 7 is

7 8 " € 9 fawtlira 819 et 4 sieht h Ta@ Bret
T T R?

a) 1007 b) 1001
c) 1006 d) 1009
Solution:

Smallest number of 4 digit is 1000
7)1000( 143
7
30
28
20
21
1
So required 4 digit smallest number that is
divisible by 7
=1000+1
=1001

TR
4 FiehT T Herl BT HE&AT 1000 &

www.wedacareer.com




7)1000( 143
s
30
28
20
21
1
IT: 4 IThT T T DI TEAT S 7 @ forvrs=r &1
=1000 + 1
=1001

193. Median of the data 13, 16, 12, 14, 19, 12,
14,13, 14is

22T 13, 16, 12, 14, 19, 12, 14, 13, 14 hT HTTSART FIT &2

a) 14 b) 9
c)13 d)13
Solution:

Data Given

13,16, 13, 14,19, 12, 14, 13, 14
Arrange in ascending order
12,12,13,13, 14, 14, 14, 16, 19

Total no of terms 9 (odd)

Median =n7+1th = %th

=2t

2
=5th
Which is 14

TSR

feam ma gar

13,16,13, 14,19, 12, 14, 13, 14
ST A | A feerd s

12,12, 13, 13, 14, 14, 14, 16, 19
&1 AT et w9 (For)
IR = (n+1)/2 F=(9+1)/2 A
=10/24

=591

Sifr 142

194. Product of two co-prime numbers is 117.
Then their LCM is

N HE- AV HEATST T TUHEE 117 31 q¥ 37T
LCM T grr?

a) 117 b) 9

c)13 d) 39

Solution:

Given product of co-prime =117

HCF of Co-prime No =1

Product of HCF and LCM = Product of two
number

1xLCM =117

LCM =117

T RIT:

HE-37TSH T (& T UGS = 117
HE-3THTT §edT T HCF = |

TEUE ST UeTHITH T et = 3 SeTait 1 U
1 x TdiH = 117

T = 117

195. If 75% of a number is 15, find the number.

Tt foret Tt &1 75% 15 2, 9t aeat I 82

a) 20 b) 25
c) 40 d) 35
Solution:

Let the number be x
According to question
75% of x =15

75
—Xxx =15
100
_15x100
75

x =20
FQQIEB!UI:

e Afse e x @
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5 % FTERX

X °hT 75% =15

75
—Xx =15
100

_ 15x100

75
x =20

196. The sum of two numbers is 11009. If one

of them is 9999, then other number is

a1 Gt T AT 11009 Bl T 3TH & Tk 9999 B, Y
Tad HET T w?

a) 1010 b) 1110
c) 2110 d) 21008
Solution:

Given, sum of two numbers = 11009
One number = 9999

Let other number be x

According to Question

9999 + x = 11009

x =11009 — 9999

=1010

T IRIT:

Team T 2, < Tt 1 A = 11009
Teh §&AT = 9999

T % ST

9999 +x = 11009

x = 11009 — 9999

=1010

197. The sum of all prime umbers between 58
and 68 is

58 31T 68 o sfier Tt STUTST TEIATSHT T AT AT 32

a) 179 b) 178
c) 187 d) 183
Solution:

All prime number between 58 and 68
=59, 61, 67
Now 59 + 61 + 67 = 187

TISRIT:

58 3 68 & sii=r <l uft 37T T
=59,61, 67
T 59 + 61 + 67 =187

198. The LCM of two numbers is 28 times of
their HCF. The sum of their LCM and HCF is
1740. If one number is 240 then what is the
other number?

1 TS T LCM 3% HCF T 28 THT 81 3%
LCM 3 HCF &T a1 1740 81 T2 Ueh 6T 240 7, At
Tad T T 8?

a) 460 b) 420
c) 500 d) 380
Solution:

Given LCM =28 x HCF

Sum of LCM & HCF is 1740

LCM + HCF =1740

Formula

LCMxHCF=N; XN, ----(2)
Let HCF be x second number be y
HCF=x, LCM =28 x

From equation (1)

x + 28x = 1740

29x = 1740
x =22 _ 60
29

HCF = 60, LCM = 28 x 60 = 1680
From equation (2)
1680 x 60 =240 Xy

_ 1680%60

240
=420

- (1)

TR

&= =T LCM = 28 x HCF
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LCM SR HCF ST a1 1740 §
LCM + HCF = 1740 - - - - (1)
o

LCM x HCF=N; X N, ----(2)
A AT HCF x &, 0§ty §
HCF =x, LCM =28 x
iR (1) &

x+28x=1740

29x=1740

1740

29

HCF = 60, LCM = 28 x 60 = 1680
rfteRToT (2) ©

1680 x 60 = 240 xy

1680 x 60
a0

X =

y =
=420

199. The sum of three consecutive integers is
51. The middle one is

A TR UTTehT ST AT 51 3| ST STt qutiens T
&

a) 14 b) 15
c) 16 d) 17
Solution:

Let three consecutive integer
xx+1,x+2

According to question
x+x+1+x+2=51

3x+3 =051

3x =51-3

3x =48

x =16
Middleoneis=x + 1
=16+1

=17

TSR

w1 Sffere o shumTa qorfen &

X, x+1,x+2

T % STEAR
x+x+1+x+2=51
3x+3=51
3x=51-3
3x=48

x=16

HET Tl = x+1
=16+1

=17

200. The average of 4 numbers is 16 and the

average of another 4 numbers is 20. Find the
average of the 8 numbers taken together.

4 TEATAT T HATEA 16 T R AT 4 TEaTaa 7 it
20 31 8 HEATAY T O FAT 22

a) 16 b) 17
c) 18 d) 19
Solution:

Let the four number a, b, ¢, d
a+b+c+d

4
16x4=a+b+c+d
64=a+b+c+d ----- (1)

Let another four numbere, f, g, h

Average =

Average = —e+f:g+h
20x4=e+f+g+h
80=e+f+g+h  ----- (2)
AverageOf8:=a+b+c+d;e+f+g+h
_64+80 _ 144

T 8 8

=18

Fqglaﬁwl:

A AT IR d@&amd a, b, ¢, d

a+b+c+d
4

fed =

l6 x4=a+b+c+d
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64=a+b+tc+d----- (1)
aH T S IR @ ¢, f, g, h
3 _etf+g+th

4

20x4=c+f+g+h

80=e+f+g+h----- 2)

_atbtctdte+f+g+h
8 T 37| = .
_ 64+80 144
-8 8
=18

www.wedacareer.com




THE WINNING EDGE

—— DEFENCE —

ABOUT THE WINNING EDGE

The Winning Edge is located in Dehradun. The Company specializes in preparing
candidates for Defence Entrance Exams (Officer Entries Only) and Interviews. The Winning
Edge offers.

ONE STOP CAREER SOLUTIONS for: -

® Defence Written Exams and S.S.B Coaching: (NDA, CDS, AFCAT, INET, ACC), CAPF (AC),
TA.
® Preparation for Entrance Exams: RIMC, Sainik School & Rashtriya Military School.
® UN Placement Guidance.
@ ASIS Security Certification (CPP, PCI & PSP) Mentoring.

FOLLOW US ON-

® Facebook: https://www.facebook.com/THEWINNINGEDGEDOON
® Twitter: https://twitter.com/T W Edge
® Instagram: https://www.instagram.com/the_winning _edge /

® Blog: www.soldierspeaks.in
® Spotify ‘Super cast by Col AD’
:https://open.spotify.com/episode/2ScYnpWoGfDzpdNU4f6050?si=6deb3db8e4a94c17
CONTACT US-

Phone:
Counsellor: +91-7417920356 | Office: +91-8279860459
Web:
wedacareer.com/courses

Email:
thewinningedgedefence@gmail.com | connect@thewinningedge.net

www.wedacareer.com



https://www.facebook.com/THEWINNINGEDGEDOON
https://twitter.com/T_W_Edge
https://www.instagram.com/the_winning_edge_/
http://www.soldierspeaks.in/
https://open.spotify.com/episode/2ScYnpWoGfDzpdNU4f6O50?si=6deb3db8e4a94c17
Counsellor:%20+91-7417920356|Office:%20+91-8279860459
file:///C:/Users/ASUS/Downloads/wedacareer.com/courses
mailto:thewinningedgedefence@gmail.com

